
      

             

Well that all depends. Let’s take a deeper look at that. You say you will win because you are slow and steady but I say I 
                       𝒅 =

𝒕𝟐       
                         

          
𝒅 = 𝟐𝒕       

             
          

 

                    
           

                 

 At what times are we tied? How can you tell this on the graph?  Let’s sketch this on the graph provided below. 

            


   



 Let’s look at certain speeds we reach. Fill in the table below.  We are going to be finding the rate of change 
            

  𝒅 = 𝟐𝒕  𝒅 = 𝒕𝟐
 

 

 

            

          

            
       

            ∞

   



         
                     

 


















 


















 


















                    

              

             

 
 
 
 
 

     

     

 
 
 
 
 

     

     

 
 
 
 
 

     

     

 
 
 


  
  
  
  
  
  
  
  

  
 
 
 



